- GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2017

(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)

Mental Ability Test

Roll No.

Full Marks : 50
Time: 45 Minutes (10-30 AM to 11-15 AM)

Instructi_ous to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 50 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before youproceedtomarkinthe OMR Answer-
Sheet, find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

@ @ © @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall. :

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer Sheet.

7. The OMR Answer-Sheetshould be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: Read the questions carefully and
give answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(o ¢ emiafE SiEmenR A, s Sersli wu @@
Ff3e Tedl Wdba F9 O C.au7. Seasican [RS
3G 939 I (SINIF TeA riae 59 (]

1. If (x + 7954 x 7956) be a perfect square
number, then the value of x is
(a) 7954
(b) 7956
{¢) 1
(d 0

2. If m is any positive integer, then the last
two digits in the expressions (81)™(121)™-1 are

(a) 02
(b) 12
(€) 21
(d) 00

The remainder when 7' is divided by 51 is
(a) 7

(b) 33

(c) 12

(d) None of the above

4. The average age of two brothers is 9 years.
It is increased by 9 years when their mother’s age
is also included then the age of mother is

(a) 35 years
(b) 36%ears
(c) 37 years
(d) 38 years

[3]

5. The value of
222+ D%+ DR+ DR+ DERM%+ 1) is
(a) O
(b) 1
(c) -1
(d 2

6. A page of abook is turn out and the sum of
the other page number is found to be 15000. Find
the page numbers of the page turn out.

(a) 24,25
(b) 25,26
fc) 26,27
(d) 27,28

7. If (x—4) is the common factor of

(x*~px +20) and {x* + (p— 6)x —q} then the value
of g is

(a) 28
(b) 20
(c) 19
(d) 10
8. If a, b, ¢, d are four non-negative real

numbers and a + b + ¢ + d = 1, then the maximum
value of ab + bc + cd is

(a)
(b)
(c)
(d)

W = s B

9. Two equal circles, each of radius r,
intersect each other such that each circle passes
through the centre of the other. The length of the
common chord of the circles is

(a) 2r
(b) 27
(c) 3r

@ 2



10. If the angles of a triangle are in the ratio
1:1:2, then their sides will be in the ratio
(ay 2171
) 1:2:2
©) 1:42:1
@ V2:1:42

(Questions 11—20)

DIRECTION: In each questions 11 to 20 below,
there is a number series with one term missing
shown by ‘?’. The term is given as one of the
alternatives among four numbers given below it.
Find the term and indicate your answer by filling
the circle of the corresponding letter of alternatives
in the O.M.R. Answer-Sheet.
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11. 10, 19,40, 77, 158, ?
(a) 311
(b) 307
(c) 301
(d) 299

12. 4, 18,48, 7, 180, 294
(a) 96

(b) 100

(c) 120

(d) 160

90 45 o 45 30,45
e R g
(a) 20

(b) 22

(c) 24

(d) 18

13

14. 1296, 648, 216, 7, 36, 18,6, 3
(a) 112
(b) 106
(c) 108
(d) 110

[4]

15.

16.

17.

18.

20.

34,368, 7,42-4,45-2, 48
(a) 36

(b) 394

(c) 396

(d) 402

9,28, 65, 126, 2, 344
a) 210
(b) 217
) 215
(d) 225

888, 454, 237, 7, 74-25, 47-125
(a) 128-5
(b) 126-5
(e) 1275
(d 1295

1
(a) E
s
2
1

)y - 7
(d

s

1
8

—

13,7,2,-11,-29,-52
(a) 10

(b) -10

(c) 8

(d) -7

(1,6),(5,2),3,4),0,7),(-1,8),?
(@ 4,4

() 2,7)

© (7.7)

@ 2,5)



(Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and indicate your answer by

filling the circle of the corresponding letter on the.

O.M.R. Answer-Sheet.

[fFst ¢ 21 ¢t 30 21F% &rer 2 1M F6F « witg,
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21. (a) Ramanujan
(b) Kaprekar
(c) Harish Chandra

(d) C.V.Raman

(a) Arithmetic
(b) Algebra

(c) Equation

(d) Trigonometry

22.

23. (a) Bose Institute
(b) Chennai Mathematical Institute
(c) Indian Statistical Institute

(d) Saha Institute of Nuclear Physics

(a) Dengue

(b) Malaria

(¢c) Chikangunia
(d) Typhoid

(a) Ant

(b) Bee

(c) Spider
(d) Butterfly

(a) Phi

(b) Gamma
(¢c) Delta
(d) Peso

(a) Newton
(b) Farad
(¢) Pascal
(d) Einstain

(a) MORV

(b) CEHL

(c) CENT 3
(d) JLOS

25.

26.

27.

28.

[5]

29. (a) 126
(b) 217
(c) 345

(d) 513

30. (a) Maradona
(b) Djokovic
(c) Federer

(d) Nadal

(Questions 31—40)

DIRECTION: In each question below there are
two words separated by “:” in the upper row. Below
that there are some words on each side of the
symbol ‘:". Find the relation between two upper
words and select one word from the right side of
*:” below which have the same relation as above.
Fill the circle of the letter denoting your selected
answer on the O.M.R. Answer-Sheet.
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31. Australia : Kangaroo
Siberia : ?
(a) Reindeer
(b) Yak
(¢) Bear
(d) Yet

32. Earthquake : Richter Scale
Pressure : ?

(a) Air

(b) Calorimeter

(c) Barometer

(d) Atmosphere

33. Rectangle : Cylinder
Triangle : ?

(a) Cone

(b) Sphere

(c) Prism

(d) Cylinder



35

36.

3.

38.

39.

Pitch : Cricket
Arena: ?

(a) Tennis

(b) Gymnastic
(c) Badminton
(d) Wrestling

Heart : Pericardium
Brain : ?

(a) Meninges

(b) Head

(¢) Skull

(d) Cranium

Dawn : Morning
Dusk : ?

(a) Light

(b) Sun

(c) 6 am.to 12 noon
(d) Evening

Money : Transaction
Language : ?

(a) Idea s
(b) Learn i
(c) Translation

(d) Conversation

Atom : Molecule
Cell : ?

. (a) Organism

(b) Nucleus
(c) Matter
(d) Battery

Palaeography : Writings
Ichthyology : ?

(a) Fishes

(b) Whales

(c) Oysters

(d) Mammals

40. Race : Fatigue
Fast: ?
(a) Food
(b) Appetite
(c) Hunger
(d) Weakness

(Questions 41—50)

DIRECTION: In questions 41—50, numbers are
placed in figures on the basis of some rules. One
place in the figure is indicated by the interrogation
sign (7). Find out the correct alternative to
replace the question mark and indicate your
answer by filling the circle of the corresponding
letter of alternatives in the O.M.R. Answer-Sheet.
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41.

(a) 13
(b) 9
(c) 12
(d) 8

A2, I r2 31 518 (1321134155 | 7

(a) 85
(b) 89
(c) 99
(d) 98



AQA o

" (@) 11
(a) 81 (b) 8
®) 25 (c) 28
(c) 49 (d) 18

(d) None of the above

48.
44. |
AN :
0 2| 6 1|5
(a) 625
(b) 255 ' (@) 125
(c) 225 ®) 8
(d) 125 © 216
(d 0
¥ ol olosol atat "
4 3
20) (%0 @ 9>§7
(@) 20 13 12
(b) 25 2
) 50 ((i)) (:?,
(d 55 _ © 8
: (d) 6
e A ; 7 50. [ gs] 96 105]
T
5 1.3 |8t
_ 9 163 201
3 130 g 9 11 19 27 2
(a) 129 (a) 31
(b) 127 (b) 29
(c) 1%8 () 35
(d) 130 ' (d) 23

s [7]



GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION

NATIONAL TALENT SEARCH EXAMINATION, 2017
(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)
Scholastic Aptitude Test

SIS S

Roll No.

Full Marks : 100
Time: 90 minutes (1:30 PM to 3:00 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 100 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Beforeyouproceedtomarkinthe OMR Answer-
Sheet find out the correctanswer fromthe four alternatives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen,

to the corresponding correct answer for the item in the

OMR Answer-Sheet.
Example :

® @ © O

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or hcgative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your roll no. in
OMR Answer Sheet

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination. 5
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Mathematics mﬁ

1. Ifa+b+c=1andab_+bc+cazi,Then 1. a+b+c=1£t3‘{ab+bc+ca=%’{tﬂ
&b reis 3 a:b:cT3
(@) 1 251 - : 6 e
() 1:1:2 | (b) 1:1:2
D M R | ) 25151
d 1:1:1 @ 1:1:1 |
- 2. The integral value of k for which the 2. (k=12) 22 +2 (k-12) x + 2 = 0 5 N=zz41
equation (k— 12) x* + 2 (k— 12) x + 2 = 0 possesses (I AT AN AT 71 70 k93 =0 =
no real solutions is (a) 12
(a) 12 (b) 13
(b) 13 : : () 14
(c) 14 _ (d) THw=a 7HbE
(d) All of the above
3. The value of\f\/:ls—lﬁﬁ is : 3. \(\228—16\/—?; -4g |
(@) J3-1 (@) 3-1
b) 1-3 R, 1 (b) 1-43
() 2/3-4 (©) 23-4
@ 4-243 d) 4-2\3

4. If (¥*-x-6) =(x+2)(3-x), then value(s) 4. J(_x?'—x—6)2 = (x+2) (3— x ) 2T x4 /ST

of x

(a) does not exist (a) =IR¥g =1
(b) —2<x<3 : (b) 2<5<3
{c) x=-2.3 () x=-23
: (d) x=0
(d) x=0
5. If a and b are the non-zero distinct roots of 5. X%+ ax + b = 0 ARG W T Gl 76
x* + ax + b =0, the least value of x> + ax + b is e @ ‘@’ e b’ WA X2 + ax + b-97 TEEN A
' 4 4
@ 3 | _ @ 3
S 4
®) =5 ' . b) ~3
Qi 9
© 3 ©
o =2
DG @y =

[3]



6. The number of solution of the equation
x =x-2is
(a) 1.
(b) 2
(ORY
(d) 4

7. A circle having centre at origin passes

%,0 . Which of the

following points. does not lie inside the circle?
o (3
o)
s}
0 (<3

8. If (1 — p) is a root of the equation
x>+ px+1—p=0, its roots are

(a) 0,-1
(b) -1, 1
(c) 0,1

(d) -1,2

through the point

9. The median and mode in a frequency
distribution are 26 and 29 respectively. The mean is

(a) 27-5
(b) 245 _
(c) 284 .
(d) 25-8

10. If the mean ofxl, xz, Figs-s by By is 20, then
meanof.x1 +4,x2+ 8.,,\73 12, xw+40is

(a) 42
(b) 24
(c) 40
(d) 60

6. x* = x—2 TRTAMB T TR 25

(a) 1
(b) 2
(c) 0
d) 4

7. @& RS 9 95 98 [L;:,OJ RegallsH |
faferie Rmpefem wwg @ial 3eibe sremwnE srfze aw

o (3

8. X+px+1-p=07Tz=a «3f % (1 -p)

e, AN Freei oo

(a) 0, -1
(b) —1,1
()01

(d -1,2

9. @I AR RoeE Ja 918 TR T
AT 26 G2 29 2 NT T

(a) 275
(b) 245
(c) 284
(d) 258

10. Xy Foge Fy £ i X, 93 1O 20 zZ=
x1+4,x2+8,x3+12,.'..,x_w+40d1?ﬁ1@_'§ﬁ

(a) 42
(b) 24
(c) 40
(d) 60

[4]



11. If ‘@’ is x% more than ‘b’. and ‘b’ is y% 11. ‘@, ‘b’ o= x% @ @32 b, ‘a’ SErF

less than ‘a’ ltheI} relaltion between x and y is Y% T x 8 y-437 W A 2@
@) oo 5 Lol 4
S @ "5 100
® %100 LA 0
e ® 5% 100
Al (@) =-—=100
s 100 J1r )i}
@ 5%~ Ll
s (d) y x
12. The number ‘34’ is divided into two parts 12. ‘34?4 #=4focE 4 S awmed Roe w41 =&
such that%th of the first part is equal to —;l-th of the @ &3 "Fth ogef faerafba %th SIRTAR FTN = | FRA
second part. The numbers are e
(a) 20, 14 : (a) 20, 14
(b) 2113 (b) 21,13
(c) 13,21 . (c) 13,21
(d) 14,20 (d) 14,20 _
13_. The volume of a regular tetrahedron of side 13. ‘@’ IR G0 IV SO TS 25
‘a’ 1s $7
@ g ' (@) -
_ V2 5
o Lo _ Sl
3 5
© Lo o s
: G
(d) gai (d) Eﬂ

14. The arc length of the sector of a circle of 14. RIPIERER G a7 G & JEa T

radius R which makes an angle x° at the centre is X° (Pl Tl e IS JEBIHT el 20
27 Rx .

SRV 2w Rx
@ S | @)
27 Rx 27 Rx
® To 3 ) ==
zR*x - R
© o () =
R*x 2
R
@ 56 : G |
15. If a cos 8 — b sin B = ¢, the value of 15. acosO-bsin®=cZT@ asin O+ b cos 697
asin 6 + b cos 0 is o
(@) +Ja?+b* +? : (@) +Ja?+b*+c
(b) +Ja24b? ¢ (b) +Ja*+p*-¢2
() iv‘-cz—az—bz. . (C) 3 Ja8 P
(d + .az—b2+cz (d) +Ja>-p*+¢

t [5]



16. The smallest positive solution of the
equation (81)™ * +(81)™ " =30 is

(a)
(b)
(©
(d)

aNWw|N w|NT|y

17. The angle of elevation of the Sun decreases

from 60° to 30°, the length of the shadow of a
vertical post increased by 40 m. The height of the

post is

- (a) 10V3m
(b) 153m
(€) 53m
(d) 203m

18. ABCD is a trapezium whoseABHCDand
diagonals AC and BD intersects at ‘O’ such that
OA= (3x 1) cm, OB =(2x+1) em; OC =(5x—3) cm

and OD =(6x—5) cm. The value of x is
(a) 2

1
(b) 5
(c) 3
(d) 4

19. Three circles with centres A, B, C
respectively touch each other externally. If
AB=5cm, BC =Tcm and CA = 6cm, theradmsofthe
circle with centre A is

(a) 1'5¢cm
(b) 2 cm

(c) 25cm
(d) 3em

20. ABCD is acyclic quadrilateral such that side
ABis the diameter of the circle and £4DC =140°,
The value of Z/BAC is

(a) 40°
(b) 45° »~
(c) 50°
(d) 60°

16. (81)™ +(81)™ " =307 Maelfba Faew 4
N %=1

(@)
(b)
' (c)
h (d)

N NwIN w[NE|y

17. EE Saferai 60° (A #Ifaafes 2@ 30° =
a3 TEy weF AR g 40 FoE I oA | wsiw
Tl 26

(a) 10/3m
(b) 15\3m

(c) Sﬁm
(d) 2043m

18. ABCD Gifsifémica 4B[CD @<k AC € BD
e 27 ‘O’ s @ F@ | I 04=(3x-1) em,
§=(2x+l)cm,m=(5x—3) cmEaR E=(6x—5)cm
A X4 T 26 :

(a) 21
(b) >
()3
(d) 4

19. A, B, C @ R o 6 AR AR
0E| W AB=5cm, BC=Tem 9% CA=6cm T3,
O@ (YR J08d IPIE 2|

(@) 1'5¢cm
(b) 2em
() 2:5cm
(d) 3em

20. ABCD 392 599EH AB R &b @3 1
938 LADC =140°| ZBAC 47 W &

(a) 40°
(b) 45°
(c) 50°
(d) 60°

[6]



Physics

21. A player completes a circular path of
radius ‘r’ in 40 sec. At the end of 2min: 20sec what
will be the magnitude of his displacement?

(@ 2r

(b) 2xr
(c) 9nr
(d) Zero

22. A body is thrown up vertically upwards
with a velocity ‘u’. It covers a maximum height of
h. If air resistance is neglected, h is given by
(take g = acceleration due to gravity).

(a) 2%
(b)
(c) :

2g
(d) =

2ug

23. A man walks 8m towards east and then 6m
towards north. The magnitude of his displacement is
(a) 10m
(b) 14m
(c) 2m
(d) Om

24. The time period of a simple pendulum (for
small angular amplitude) depends on

(a)
(b)
(c)
(d)

mass of the bob.

effective length of the pendulum. |
volume of the bob. ”

mass and volume of the bob.

25. 'Fill in the blank :

U™ + g1t =  Ba"™ + —— + 3,n' + Energy.
(a) s Kr* |

(b) s Kr”

(©) s K.,"gl

(d) 16 Kr*

[7]
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21. 949G ARG r IPIET @I JeFE #g
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(a) 21
(b) 2nr
(¢) 9nr
(d) o

22, <3l W@ u -AAE @Ol T TowA w91
251 | B LA h Tobol SITRIZS 0 I 4l S
TALGIAN (49 g = SIfeadE gae)

7

u
(a) e

u
~(b) i
€ 2ug

d =
g

23. &% e 8 fibiR s, ©re== 6 fib Tex
it oifoes 90 | ofg Faeea T 25

(a) 10 fG=
(b) 14 fBR
(c) 2FmE
(d) 0o

24. ST e (REER ST (G e
=#) e e fRaafba Bor e @

(a) O ToI0ed ©Ed ©ofa |

(b) e FEFT (T THAT |

(c) e e SaSEd TAF |

(d) oies #ired O € HITeEd ©od |

25. MU 7R Q¢

,J,ZU;"?’S 2 Unl - 563{1139 +
(@) k™

(b) (kr”

(o) K”

(d) 36K"%

+3,n' +¥ifE



26. Acar moving with a speed of 50 Km/h can
be stopped safely by brakes over a minimum
distance of 6 m. If it moves at a speed of 100 km/h
what will be the minimum distance of stopping
safely?

(a) 12m
(b) 18 m
(c) 6m
(d 24m

27. Two bodies of masses 4 kg and 5 kg are
moving with equal momentum. The ratio of their
respective Kinetic Energy will be

(@) V4:\5
(b) 16:25
() 25:16
(d 5:4

28. Young’s Modulus of the material of wire
of length ‘L’ and radius ‘r’ is YII-:; . If the length
1s reduced to I;“ and the radius is reduced to ; g

what will be its Young’s Modulus?
(@) Y
(b) 2Y
(©
(d)

29. An ice cube of density 900 kg/m’ is
floating in water of density 1000 kg/m’. The
percentage of ice volume which remain outside
water is

(a) 20%
(b) 80%
© 10%
‘(d) 90%

30. Three resistances each equal to ‘" are
connected as shown in the adjacent fig. The
equivalent resistance between A and B is

B [ B [

r r r
A—T—"WA— A ———WA—L—

(a) r
(b) 3r
ey 2 %
2r
@ %

[8]

26. 50 ffr 2fS 2% @t ofofm @3 i &=
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(a) 12 fio=
(b) 18 fuit=
(c) 6Fr
(d) 24 o=
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A9 AN | SR Siferifed Seeiie Fe A e

(a) 45

(b) 16:25

(c) 25716

d) 5:4

28. L-weal< € r AT G Sitas SAmIta 238

witE Y1, , o o s L sk e < !
31 T, 3L AR O (A ?

(@) Y

(b) 2Y

(c)

(d)

S

29. 900 kg/m® WWCgd @I I . GE
1000 kg/m® 993 Site1 ©PItR | I9weby SmeEs @
ORI SR R AT O 2

(@) 20%
(b) 80%
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A
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31. The number of B-particles emitted by a
radioactive atom is twice the number of o-particles
emitted by it. The resulting daughter atom is an
of the parent atom. (Fill in the blank)

(a) isobar

(b) isomer

(c) isotone "

(d) isotope

32. If *f’ be focal length of a convex lens, then
the minimum distance between the object and its
real image is given by

(a) 2.5¢
(b) 2f
(c) 4f
(d) f

33. The velocity of sound in a gas having
temperature 7 in Kelvin scale is given by v, then

(a) vioe T
1 T
(C) Vv oC

(d) v

il

JT

3. @F (oEEE o e e B-eia s
fqofe o=l et fawed 2, 778 2ol A= dewibe
A (RN AEe ) |

(a) wIREIRE
(b) SREASE
(c) SIREAIGE
(d) =R

32. @ Te EIER IR R 7 2 I 9K
TRF B I W PO GG T 2

@) 2.5f
(b) 2f
) 4f
@ f

33, @R WOE @EoR R el T @ @
ST W (@95 v 20, W0 2ve T=wFafera @ 7o ?

@ veT

(b) v e T

© ve—

@) v 7r



Chemistry

34. How many new sigma bonds will be
formed when benzene is completely hydrogenated
using Pt/H,?

(a) 3
(b) 4
) 5
(d) 6

35. In the ideal gas equation PV= W_RT, the
quantity ‘M’ stands for—
(a) Number of moles of the gas.
(b) Molecular weight of the gas.
(c) Gram molecular mass of the gas.
(d) Mass of the gas in grams.

36. Which one is an example of a Redox
reaction?
(a) BaCl, + H,SO, — BaSO, + 2HCI
(b) CaCO;— CaO + CO,
(c) Ca(OH),+ 2HCI — CaCl,+ 2H,0
(d) NaH + H,O — NaOH + H,

37. What is the pH of a 0-001 M NaOH
solution?
(a) 3
(®) 7
) 11
(d 12

38. An ion having a Mass number 52 has
3 units of positive charge. The number of neutrons
in the ion exceeds the number of electrons in it by 7.
The Atomic number of the element is

(a) 28
(b) 22
(c) 26
d) 24

-

39. 02 gm of an organic compound on
complete oxidation produces 0.18 gm of water. The

percentage of hydrogen in the orgamc compound s’

(@ 5
(b) 10 |
() 15
(d) 20

A

34. PUH, FZ@AN @iEa 7o 2Rgiferie s
oo Frer 7w S = e
(@) 3
(b) 4
€ 5
d 6

35. e ot AR PV= - RT-co ‘M’ a1
%
(a) IO e 7 |
(b) hioE S e
(c) MR AN ST e |
(d) st eiFifS e eF |

36. ffeFmefm S @l wie-Remd [
Trlege 2
(a) BaCl, + H,SO, — BaSO, + 2HCI
(b) CaCO;—> CaO + CO,
(c) Ca(OH),+ 2HC] — CaCl,+ 2H,0
(d) NaH + H,0 — NaOH + H, '

37. 0-001 M NaOH %3t pH 92
(a) 3
(b) 7
(e)-11
d 12

38. 393 TS SHRRRE gt SR vl
szmﬁwﬁc@ﬁ@ﬁwmﬁa@w\mﬁmm@ﬁ
T ANF O (aod @F 2

(a) 28
(b) 22
(c) 26
(d) 24

39. 02 2N @3 (&7 @R A w1EwE T
0.18 oW &= Seoly 2| T (Qoifbee RRugie
woRM s ze

@ 5
(b) 10
()15
(d) 20
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~ 40. The maximum number of molecules present
in
(a) 15L H, gas at STP.
(b) 5L N, gas at STP.
(¢) 0.5 gmH, gas.
(d) 10 gm O, gas.
41. Which of the following polymers contains
Fluorine?
(a) Neoprene
(b) PVC
(c) Teflon
(d) Polyester
42. - A mixture ethylene, methane and propene

was passed through cold, concentrated sulphuric
acid. Which gas/ gases will come out unreacted.

(a) Methane

(b) Ethylene and Methane
(c) Propene and Ethylene
(d) Propene '

43. Which of the following orders of ionic radii
is correctly represented?
(@ O*>N*>AP*>Mg*
(b) AP*>0*>N*>Mg*
(c) N*¥>0r>Mg*>AP*
(d) N*>AP*>Mg* > 0"
44. X and Y are isotopes. Which equation is
correct regarding the two atoms?
(a (b+d)(a-c)=0
(b) (b—d)(a+c)=0
(c) b+d)(a+c)=0
(d (b+a)(d+c¢c)=0

45. Among HCIl, HBr, HF and HNO, which
one will form acidic salt?
(a) HCI
(b) HBr
(¢) HF
(d) HNO,

' 46. During the extraction of Al which one of
the following is mixed with AL,O,?
(a) CuSO,, H,0
(b) Na, AlF,
(c) NaAlO,
(d) SiO,

40. R FAw oY TeifEe i
(a) 15 L H, i STP ¢S |
(b) 5L N, w1 STP (S |
(c) 0.5 & H, a0t |
(d) 10 2= O, i |

41. TRERe se@eelE T @b pefh a6
(a) fAsfas '
(b) ffef
(c) =W .
(d) ~FEEeR

42. ZIfem, Frew € caifsima @i e 3, s

RS sBie wan o e 1 5 | i o

aiesler Sifage g @l s e
(a) s
(b) ZfeIfem e fwem
(c) califoe e 2w
(d) caifom

43. TS i SRR e @ e
(a) O*>N*> AP > Mg*
(b) AP*>0*>N*>Mg*
(c) N*>0*>Mg*>AP*
(d) N*>AP*>Mg* >0*

44, X EGR Y oIEa SREGe | TS it A
(G (I SR A9 2 :
(@ (b+d)(a-c)=0
(b) (b~d)(a+c)=0
(©) (b+d)(a+c)=0
@ (b+a)d+c)=0

45. HCI, HBr, HF ¢ HNO, 3 34 @ Wifss
R BT (A2
(a) HCI
(b) HBr
(c) HF
(d) HNO,

46. AlFSHER T ALO-I AR Wwe smdeia
S (IS G| 231 7
(a) CuSO,, H,0
(b) Na, AlF,
(c) NaAlO,
@ Sio,

' [11]



47.

Biology

Which one of the following sets of animals

have four chambered heart? .

48.

49.

50.

51.

52.

(a) Amphibia, Reptilia, Bird
(b) Crocodile, Bird, Mammal
(c) Crocodile, Lizard, Turtle
(d) Lizard, Mammal, Bird _

Mesophyll cells in a leaf are constructed by
(a) Parenchyma tissue

(b) Collenchyma tissue

(¢) Sclerenchyma tissue

(d) Meristematic tissue

Name of the structural unit of DNA is
(a) Nucleoside

(b) Nucleosome

(¢) Nucleotide

(d) Nucleoprotein

Nuclear membrane is

‘(a) double layered and porous

(b) double layered and non-porous

(c) single layered and porous

(d) single layered and non-porous

Anti-haemophilic Factor is
(a) Factor VII ’

- (b) Factor VIII

(c) Factor X
(d) Factor XII

During deficiency of oxygen in tissues of

man, pyruvic acidis converted into lactic acid in the

(a) Chloroplast
(b) Golgi body
(c) Cytoplasm
(d) Mitochondria

G

47. RS @ 2felrm et adte v 4w
RIREETE

48.

49.

50.

51,

52.

(a) ©obd, AP, o
(b) 3=, oFF), Wit
(c) 3=, i, womst

- (d) TR, T, o5

«3f5 Pireta e @meR e =
(a) =PRI = =1 |

(b) FEwE F= == |

(c) CHta==IRs Il @l |

(d) SrE= 3= al |

DNA-F 515951 Ge =1
(a) Pz
(b) FeperEm
(c) FeRretiRe
(d) Fekpeena

elpesi ==

(a) fa-wdm e ewge
(b) Bwdm e fRufads
(c) wswam ¢ omge
(d) 9w e Rulzam

SRR w2
(a) @i VII

(b) ®iF VIII

(c) TEX

(d) =3 X1l

RS IS SRed 9ibfe 26 ARwfes

HFTE ARRES 2@ e S sfae 53

[ 12 ]

(a) FHACS
(b) . 5iEAlel @S
(c) FEGIA
(d) “EGRgETe



53. Adoctor advised a person to take an injection
of insulin because

(a) he was suffering from goitre.

(b) his blood pressure was low.

(c) his sugar level in blood was high.
(d) his heart was beating slowly.

54. The correct sequence of reproductive stages
in flowering plants is
(a) Gametes, Zygote, Embryo, Seedling
(b) Zygote, Gametes, Embryo, Seedling
(c) Seedling, Zygote, Embryo, Gametes
(d) Embryo, Zygote, Gametes, Seedling

55. Select the eco-friendly activity among the
following:

(a) Using dyes for colouring clothes.

(b): Using polybags for shopping.

(¢) Using car for transportation.

(d) Using windmills to generate power for
irrigation.

56. The letter ‘B’ in the name BCG vaccination
stands for

(a) Beriberi
(b) Bacteria
(c) Bacillus
(d) Blood

57. Which one out of the organs listed below,
most actively functions in regulating our body
temperature? ;

(a) Stomach
(b) Heart
(c) Skin
(d) Lungs

58. The type of joint found at shoulder is also
found at

(a) -Knee
(b) Elbow*
(c) Ankle
(d) Hip

53. TG UIGIH GF ST ST 2GR (ST

s e, @19

(a) oM sw=ioiens gl |

(b) S5 F&bIo 7 et |

(c) R ACE =FA= Wil @ e |
(d) Szl i ifrs 2oz |

54, oo Tiema G [[Afen 4itsia 7S segiaw

(a) siicHefE, @izelib, 99, siaee |
(b) EREAIG, s, g4, sz |
(<) BIRIAE, ST, 36, DR
(d) 91, &fRCailG, spioef, SR |

55, SaskE ey @ AfieRE swal Fdna

(a) oG s FA0E T8 IRTO |
(b) IR FACS AT TS W |

(c) iffzegTa & oS aze 23 |
(d) TETCIHA & Qa1 bifeic ife Test 21|

56. BCG N oieared ‘B’-a3 g 7o
(a) QRER
(b) vl
(c) aiFEm
(d) 7@

- 57. Siwasifneiee smel W @i e o2
S I OIS ARSI e I 2

(@) Az
(b) e

(c) & .
(d) P

58. ity @ P ol A o SiAe ol 9
(a) Zre
(b) F20®
(¢) coreifEre
(d) ezt

]



59. Which one of the following pairs of nutrients 59. Sipa ofRFd TAMIETE (Eive i @R T e
includes both as simple sugars (monosaccharides)? =l (e =il 2

(a) Glucose and Maltose _ () AT e Teme
(b) (Sjlucosg an;l gll*uctose (b) 2P € FHOIE
(¢) Sucrose and Glucose (c). Fi=Fier € e
(d) Maltose and Lactose (d) ETbre & FRREGIE

60. If a grasshopper is eaten by a frog, then the 60. I GO FI e GFH PTG < O X

energy transfer will be from QIR
(a) primary consumer to secondary @) SITQIﬁ??‘%Wﬂ;CWCi‘TﬂW|
consumer.
(b) secondary consumer to primary (b) CATe < (e AU Y |
consumer. - (c) Teom (LS aAldfiiE AW |
(¢) producer to primary consumer. (d) Tesime (€ REe |

(d) producer to decomposer.

; [ 14 ]



61.

62.

63.

64.

History

*Social Contract” was written by
(a) Montesquieu

(b) Voltaire

(c) Rousseau

(d) Vincent Smith

The Vienna Settlement was held in
(a) 1807 AD
(b) 1813 AD
(c) 1815 AD
(d) 1819 AD

February Revolution (1848) was held in
(a) England

(b) France-

(c) Germany

(d) Italy

‘Blood and Iron’ policy was introduced by

(a) Metarnich
(b) Cavour

(c) Gariboldi
(d) Bismarck

65. The book named ‘Sabdakalpadrum’ was
written by

66.

(a) Rammohan Roy

(b) Radhakanta Dev
(c) Vidyasagar

(d) Swami Vivekananda

‘Bangabhasha Prakashika Sabha’ was
established in

(a) 1832 AD
(b) 1834 AD
(c) 1836AD
(d) 1838 AD

[ 15]
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62.

63.

64.

65.
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67. The editor of ‘Bangadarshan’ magazine was
(a) Surendranath Banerjee
(b) Krishna Kumar Mitra
(¢) Keshab Chandra Sen
(d) Bankim Chandra Chattopadhyay

68. Buddha Bhagat was the leader of
(a) Kol Rebellion
(b) Santhal Rebellion
(¢) Munda Rebellion
(d) Bhil Rebellion

69. . Indian Association for the Cultivation of
Science was founded by

(a) Dr. Nil Ratan Sarkar

(b) Acharya Prafulla Chandra Roy
(¢) Dr. Mahendralal Sarkar

(d) Jagadish Chandra Bose

70. Chauri Choura incident took place in
(a) 1920 AD
(b) 1922 AD
(¢) 1925 AD
(d) 1929 AD

71. Poona Pact (1932) was signed between
(a) Gandhiji and B. R. Ambedkar
(b) Gandhiji and Lord Irwin
(c) Gandhiji and Md. Ali Zinnah
(d) Gandhiji and Subhash Chandra Bose

72. The first Linguistic State in India was
(a) Bengal
(b) Andhra Pradesh
.(c) ?unjab
(d) Tamil Nadu

67.

68.

69.

(a) ==L GG
(b) T fitw

(¢c) (R vE™ @4

(d) 3fEs 55 SegilieE

3% ool e

(a) cle fRgulces el
(b) vftesie [Rigales eTel
(c) o fcaiczs et
(d) S@ Rz @l

B SIEARE T4 W IS S A

AoV T

70.

71.

72.

[ 16 ]
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(b) =i 2w 5%
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(a) S»>o BT
(b) S>3 I
(c) S>3¢ BT
(d) >»3» RGBT
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(a) & @ . =9, SiEwsEE e
(b) *Iffe & 716 TIE T
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(a) Qe

(b) SFYETe

(c) =g

(d) wifEmTg



73.

74.

‘Geography

Marbel is an example of
(a) Igneousrock

(b} Sedimentary rock
(¢) Metamorphic rock
(d) None of the above

‘Block disintegration’ is a

type of weathering.

;-

(a) chemical
(b) mechanical
(c) biological

' (d) None of the above

Large waterfalls with huge volume of

water 1s known as

76.

v
coast of

78.

(a) Cascade
(b) Rapid

(c) Cataract
(d) Plunge Pool

Jet plane moves into
(a) Troposphere

(b) Stratosphere

(c) Mesosphere

(d) None of the above

Cold Hamboldt current flows along the

(a) Peru

(b) California

(¢) New Foundland
(d) Australia

The plan for “The Great Green Wall’ has

been initiated due to

(a) Protect Gangariver pollution

(b) Prevent Soil erosion

(c) Prevent desertification

(d) Prevent Global warming '

[17]
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79.

The Bundelkhand Plateau in Central

Highlands of India is situated in the

80.

(a) Eastern part of Chambal River

(b) Northern part of Aravalli Range

(c) North-Eastern part of Malwa Plateau
(d) Southern part of Vindhya Range

Which of the following is not a

characteristic feature of the Black Soil?

81.
India?

82.

83.

(a) Richin Nitrogen

(b) Richin Aluminium and Magnesium
(¢) Poor in Humus

(d) Originated from Basalt

Who is the father of ‘Green Revolution’ in

(a) M. S. Swaminathan
(b) N.Borlaug

(c) V.Kurien

(d) H. Choudhuri

India’s first petrochemical industry 18
(a) UCIL

(b) NOCIL

(c) HPL

(d) MPL

Khardungla, the world’s highest motorable

Pass, is situated in

84.

(a) Karakoram Range,
(b) Ladakh Range
(c) Zanskar Range
(d) Pirpanjal Range

The scale of 15" /15" Topographical Sheet is
(a) 1: 1000000 '

(b) 1:250000

(c) T:100000

(d) 1:50000

[18]
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85.

86.

Political Science

The book ‘Politics’ is written by
(a) Plato

(b) Green

(c) Auristotle

(d) Laski

The special status of the state of Jammu

“and Kashmir is granted by the following provision
of the Constitution of India

87.

(a) Article No. 360
(b) Article No. 370
(c) Article No. 352
(d) Article No. 356

The Father of Non-Aligned Movement was
(a) Indira Gandhi

- (b) Sukarno

held at

89.

(c) Marshall Tito
(d) Jawaharlal Nehru

The first summit meeting of SAARC was

(a) Dhaka
(b) Colombo
(c) Delhi
(d) Islamabad

The President of the Drafting Committee

of the formation of the Indian Constitution was

90.

(a) Jawaharlal Nehru
(b) K. M. Munshi

(c) Dr. Ambedkar

(d) Dr. Rajendra Prasad

The name of the Legislature of the United

States of America is

(a) Parliament

(b) Duma

(c) Diet .

(d) Congress -

85.

86.

(a) C2TH!
(b) fa=
(c) =mfE5oe
(d) =%

e AR @ I T @ IR [

W 2 T AR © T

87.

89.

[19]

(a) Yo TR gt
(b) wao 7R 4=
(c) 9ex = 4=l
(d) wev B g3l

Cerio T SIER e fRre
(a) 2fwEl ol

(b) =

(c) =fe oG

(d) ST @

HE -7 YL A FCA S
(a) ol

(b) eTCHICS

(c) FEs -

(d) TR

RO AR AR e Iba AeHife

(a) TeTIEE #=F
(b) . @ I
(c) W SitgvFa
(d) @ AEHAT

(a) GG
(b) T

(c) ©IEb
(d) ==as



91. The ‘Human Rights Day’ is observed in
the world on '

92.

are

(a) 10th December
(b) 24th October
(c) 9th August

(d) 5th June

In present India the total number of states

(a) 25
(b) 28
(c) 29
(d) 30

[20]
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Economics

93. “Laissez-faire” is closely related to
(a) Capitalism
(b) Socialism
(¢) Mixed economy
(d) Rationing system

94. The policy with which the government tries

to cope up with the situation of recession is
(a) Contractionary policy
(b) Expansionary policy
(c) Pricing policy
(d) Health care policy

95. Government fixes maximum price in the
interest of

(a) Consumers

(b) Producers

(c) Traders

(d) All of the above

96. Which of the following is not a determining
factor of the supply of a commodity?

(a) Price of the commodity

(b) Income of the consumers

(c) Prices of the factors of production
(d) Technology

97. Which type of income is earned through
production?

(a) Pension
(b) Unemployment allowances
(¢) Rent of land

~(d) Grant

b2
A

R

93. “wRiy weAIfe” U TS T@
(a) 4orEd AK
(b) SsIEreCE A
(c) T wifaraga Ao
(d) G I T

94. (3T ATy T S AR aRRE
+0E O 77 -

(a) AHETLET S
(b) SrERReER e
(c) wix WS

(d) =y ifaEal e

95, SR AEAS Wi B3 [E ¢
(a) ceorsPIR =Jed
(b) Tesmcra T
(c) IR =l
(d) ToAwe HETa Tl

96. va REnel| W @D @ T @16
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(a) woa wiw

(b) (oreE o
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e TaeR ifers =3 e

(a) Cof
(b) I Tt
(c) af= el
(d) W
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98.

Public distribution system in India is an

important instrument of

99.

100.

isa

(a) Expansion of demand

(b) Supply of essential commodities to
consumers

(c) Supply of luxury goods to consumers
(d) Increased import substitution

Which of the following is an indirect tax?
(a) Excise duty

(b) Capital gains tax

(c) Income tax

(d) Gift tax

Life Insurance Corporation of India (LIC)

(a) Bank

(b) Non-Bank Financial Institution
(c) Development Bank

(d) Rural Bank
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English

Q. 1-5. Read the passage and answer the questions
given below:

In smaller towns, life is less expensive, there is less
noise and bustle and greater freedom from the numerous
distractions which a great city offers. So the scientists
often fight shy of great cities and prefer to pursue their
studies in more placid surroundings. It would be folly,
however, to believe that science can only flourish in
monastic seclusion away from the surge of human life.
Nothing could be further from the truth. Science derives
her strongest impulses from the desire to serve human
needs as well as from purely philosophic desire to
understand Nature more deeply. Hence, to be in touch
with life, to understand the claims for service made by
humanity, and to attempt to serve them, makes for true
scientific progress. Further, science cannot do without
libraries and laboratories, and she must have the means
to free her votaries from the necessity of otherwise
earning their daily bread. If science chooses to live and
work in seclusion, she runs the risk of losing the
sympathy of those who can provide her with resources.
Thus science and humanity need each other, and they
both can flourish only when their obligations to each
other are understood and discharged.

Choose the correct answer from the options given
below:
1. Scientific research cannot flourish
(a) outside the big and busy cities.
(b) without libraries and laboratories.
(c) without quiet surroundings amidst Nature.
(d) without the distractions of a great city.

2. The most powerful inspiration for scientific
research comes from

(a) the desire to satisfy th‘e claims of service
made by mankind.

(b) to understand Nature more deeply.
(c) Both (a) and (b)
(d) Neither (a) nor (b)

3. For the progress of scientific research the
scientists need

(a) to be provided with economic security.
(b) to fight shy of great cities.

(c) to live amidst poverty.

(d) to have sympathy from all people.

4. The word similar in meaning to ‘placid’ will
be
(a) tranquil
(b) high-spirited
(c) rural
(d) natural

5. The word ‘monastic’ is connected with
(a) smaller towns
(b) philosophers
(c) monks

(d) mountains

Q. 6-10. Read the following passage and answer the
questions given below:

For Advani, one of India’s best oncologists who
recently won Padma Bhusan, the country’s third-highest
civilian award, battling odds wasn’t anything new. Born
on August 1, 1947 in Karachi, Sindh, mere fifteen days
before India gained freedom, the first upheaval in his
life was caused by the Partition. His family had to leave
behind their land and relocate. Eight years later he was
struck by polio, a debilitating disease. It left him
wheelchair-bound. Undeterred and undaunted by his
handicap, he dreamt of being a doctor himself and
improving people’s life through his work. However,
Grant Medical College denied him admission due to
his handicap. A lesser person might have given up his
goal and accepted his setback as his fate, but Dr. Advani
was made of sterner staff, he wrote to the Mumbai
University Chancellor and the Government against what
he saw as injustice. Finally, a letter from the state’s
health minister caused the authorities at the Grant
Medical College to relent and gained him a medical
seat. Thus, his perseverance and determination paid off.

Choose the correct answer from the options given
below:
6. Dr. Advani was born in the year
(a) after India’s independence.
(b) India won independence.
(c) India became a republic.
(d) previous to Indian independence.
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7.4 “Debilitating disease’ means a disease that is
(a) destructive
(b) incurable
(c) incapacitating
(d) injurious

8. Asayoung man Advani would
(a) easily give up hope.
(b) be often demotivated.
(c) be afraid of failure.
(d) never be daunted.

9. Advani got the medical seat with the help of
(a) the Vice-Chancellor of Mumbai University.
(b) the Principal of Grant Medical College.
(c) the Health Minister of the state to which
he belonged.
(d) his fate.

10. The first upheaval of Advani’s life was caused
by
(a) polio
(b) some debilitating disease
(c) the partition of Karachi
(d) the partition of India

Q. 11-15. Read the passage and answer the questions
given below:

The Flaming Cliffs continue to be one of the most
visited areas in the South Gobi. Apart from the lure of
its stunning panorama, this land was the ancient
stamping ground of many dinosaurs, whose bleached
bones and eggs have been recovered from the desert
sands, in one of history’s most thrilling discoveries.

In the early 1920s, American palaeontologist Roy
Chapman Andrews created history in global scientific
circles by uncovering the first dinosaur eggs ever found
during his explorations of the Gobi Desert in this area.
Known as Byanazag in Mongolian, the surreal environs
of the Flaming Cliffs, with their swaths of saxaul shrubs,
in fact turned out to be a dinosaur cemetery of sorts.
Palaeontologists have recovered several hugely
important fossils, amongst them those of “Big Mama”,
nesting oviraptor. You can see many of them in
Ulaanbaatar’s Museum of Natural History.

Choose the correct answer from the options given
below:
11. Roy Chapman Andrews was the first person

who

(a) visited the Gobi desert.

(b) discovered the dinosaur eggs.

(c) faced a dinosaur. :

(d) lived in the desert.

12. Ulaanbaatar’s Museum of Natural History has
a collection of
(a) many large dinosaur fossils.
(b) only the fossils of “Big Mama”.
(c) only fossils of dinosaur eggs.
(d) many fossils of aquatic animals.

13. Palaeontologists are people who study
(a) ancient history
(b) rocks
(c) birds
(d) fossils

14. The expression “stamping ground” means
(a) ahaunt or a favourite place of resort.
(b) a tourist spot.
(c) aroute taken by migratory birds.
(d) a marshy land.

15. The Flaming Cliffs site is in
(a) North Korea
(b) Singapore
(c) Mongolia
(d) Rajasthan

Q 16-17. The following five sentences come from a
paragraph. The first and the last sentences are given.
Choose the order in which the three sentences
(P,Q,R) should appear to complete the paragraph:

16. S1. Malaria is always associated with damp and
marshy land.
S2
S3
S4
S5 This can be done by draining all ponds and

pools and by covering them with a film of
kerosene oil.

P - The only way to destroy mosquitoes is to
prevent their breeding in standing water.

Q - This is because the standing water is the
breeding place of the mosquito.

R - A mosquito begins life as a larva living in
the water.

Choose from the options given below:

(a) PQR

(b) RQP

(c) QPR

(d) QRP

(4]



17.

S1. Jim was in the hotel room when the leopard

sneaked in.

S2

S3

S4

S5 Even though scared he jumped out of bed
to lock the bathroom door.

P- Then he saw the leopard which
immediately ran into the bathroom.

Q-He was awakened by the sound of
shattering glass.

R -Never he felt something moving in his bed.

Choose from the options given below:

(a) PQR

(b) QPR

(c) QRP

(d) RPQ

Q. 18-19. These guestions have the second sentence
missing. Choose the appropriate sentence from the
options given below:

18.

19.

P - Discipline plays an important part in the
playground.

R - Similarly, the soldiers in any army must
observe discipline to achieve victory in the
battlefield.

(a) A strong team without discipline cannot
play well but a weak though well-
disciplined team is likely to win the game.

(b) Students must be taught about the benefits
of discipline from an early stage of life.

(c) Discipline means regularity and obedience
to a set of well laid out rules.

(d) Sports and games help the formation of
character by teaching the virtue of
discipline.

P- A new mischief got into the head of Phatik,
the ring-leader among the boys of the
village.

Q-

R - The owner of the log would be angry and
surprised, and they would all enjoy the fun.

(a) There was a heavy log lying on the mud
flat of the river waiting to be shaped into
the mast of a boat.

(b) He decided that they should all work
together to shift the log from its place and
roll it way.

(c) Everyone seconded the proposal and it was
carried unanimously.

(d) Just as the fun was about to start Phatik’s
younger brother sauntered up and sat on
the log without a word.

[5]

20. The whole village was

22. Only
and strain of sports in modern times.

23. The hedge of henna has

24. We could hear the
from the kitchen.

Q 20-29. Choose the word that best:fills the blank
from the options given:

by the earthquake.
(a) obliterated

(b) enriched

(c) abandoned

(d) reconstructed

The government was thinking of providing
on import of edible oil.

(a) tax
(b) passage
(c) subsidy

(d) allowance

players can withstand the stress

(a) robust

(b) sincere
(c) regular
(d) punctual

its tiny buds.
(a) plucked

(b) blossomed

(c) sprung

(d) sprouted

of pots and pans

(a) clatter
(b) cackle
(c) chuckle
(d) cracking



25. Ifeelso
on anything.
(a) disappointed
(b) distracted
(c) disoriented
(d) disillusioned

that it is hard for me to focus

26. Iam alittle
(a) timid
(b) enthusiastic
(c) courageous
(d) weakling

about speaking in public.

27. Another word for ‘cloudy’ is
(a) rainy
(b) moist
(c) misty
(d) overcast

28. A door sits on door
(a) hangers
(b) frames
(c) knobs
(d) hinges

29. There are many pieces in the museum.

(a) antic
(b) antique
(c) artful
(d) ailing

Q. 30-35. Select the meaning of the given phrases/
idioms: s
30. Outand out
(a) Thoroughly
(b) No more
(c) Deadly against
(d) In favour of

. 31. Worked up
(a¥ Built
(b) Solved
(c) Excited
(d) Getrid of i

32. Blowing one’s own trumpet
(a) Talk too much
(b) Praising oneself
(c) Playing own trumpet
(d) Praising everyone around

33. Run across
(a) Pursue
(b) Overflow
(c) Meet somebody by chance
(d) Review

34. Put across
(a) Communicate successfully
(b) Postpone
(c) Carry out
(d) Offer

35. Do away with
(a) Complete
(b) Examine carefully
(c) Grieve
(d) Abolish

Q 36-40. In the following passage there are some
numbered blanks. Fill in the blanks by selecting the
most appropriate word from the options given below:

The skin’s worst enemy is the sun. If you avoid
——36—— to the sun you can help to prolong the
——37—— of _the skin. The sun
——38 deprive the skin of 39 , hastening
the appearance of certain lines and wrinkles that
——40—— is all about.

36. (a) much
(b) extra exposure
(c) additional
(d) excessive

37. (a) beauty
(b) luxury
(c) colour

(d) discoloration

[ 6]



38. (a) should
(b) may
(c) can
(d) oughtto

39, (a) water
(b) dampness
(c) wetness
(d) moisture

40. (a) growing
(b) increasing
(c) ageing
(d) mellowing

Q 41-43. Out of the given alternatives, choose the
one which can be substituted for the given words:
41. What is no longer in use
(a) Dead
(b) Obsolete
(c) Ilicit
(d) Illegible

42. Soldiers on horseback
(a) Infantry
(b) Artillery
(c) Cavalry
(d) Army

43. Incapable of being conquered
(a) Incombustible
(b) Invulnerable
(c) Indefensible
(d) Invincible

Q 44-45. Select the word which means the opposite
of the given word:
44. Extravagant
(a) Thrifty
(b) Hostile
(c) Timid
(d) Ordinary

45. Despicable ) I
(a) Worthless
(b) Respectable
(c) Shameless
(d) Contemptible

Q 46-47. Select the word which is nearest in meaning
to the given word: '

46. Ingenious
(a) Clever
(b) Naive
(c) Honest
(d) Trustful

47. Fragile
(a) Enduring
(b) Breakable

(c) Tenacious
(d) Tiny

Q 48-50. Choose the appropriate phrasal verbs to
complete the sentences:

48. The ship
(a) made out of
(b) made off

(c) made after
(d) made for

the port.

49, She ——— before I could ask her name.

(a) rang out
(b) rang for
(c) rang off
(d) rang on

50. She her children to be truthful.

(a) brought out
(b) brought up
(c) brought with
(d) brought round

[l
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